E 0 & AFHE B M A

2016 & 204 LEISIH HESAD (XFH)
A 3E2SA
M MANYHS -22 7
Helr dNRNYER olZet =4 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
2SS4 1,905,346 1,854,795 50,551
2 10,223
< 19,578
Al 1,875,545
HBUXNYZL -2 2 1,841,041 1,793,075 47,966
= 10,223
< 19,578
Al 1,811,240
HUXYES elZer =24 1,188,502 902,034 286,468
= 10,223
< 12,192
Al 1,166,087
HYMAG HR =2 235,124 478,161 A 243,037
201 et 161,304 462,414 A 301,110
01 At 22l 17,944 24,654 26,710
Ogt=&H| 17,944
—MATSHAE LTO HEY 270,000 x204 5,400
PCE oteEllAa 100,000& 504 5,000
—-JI2E 15,0002 x50 4 750
—02A 15,0002 *50 4 750
— AT A S DAT HI 40,000& 504 2,000
— dAbs ZRlIH EUY 237,000& *2CH 63 2,844
— dAta SALEX 20,0003 x5 A% 12& 1,200
02 =224l 143,360 437,760 A 294,400
OAIE ZHI S X 143,360
—gf2 PC AU 900,000& =1,510CH »4% 54,360
—HaA gegs)l RN
1,000, 000& =3CH 3,000
—LSPC HEE FHHI 30,000 *300CH 9,000
—sSEHAMEALE RXE+
2,000,000& 14 2,000
—HEFEE JADIDJ & ZelAAE RAES
30,000,000 =14l 30,000
—dUEMAAE SN2
45,000,000 * 14 45,000
202 044l 4,738 5,747 A 1,009
01 SLHOYI 4,738 5,747 A 1,009
OFSE Y25 22 01|
225,600 *3H *73] 4,738
308 XXM SOIA 21,082 0 21,082
10 BN 2SUHUSBAHHH A 21,082 0 21,082
O2-LetAlA" 2EX& A AL
21,082,000& 13l 21,082
405 RHoHE S HI 48,000 0 48,000
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M MANYHS -22 7
Sl MUNYIS o1Te) Xy CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 et ESFH S 48,000 0 48,000
O2-LetAlAE MIEAH HES2 B4
48,000,000& =14 48,000
ANz BE23 SSIIBAIAH” 2= 217,094 119,104 97,990
= 4,025
Al 213,069
201 ¢er24| 17,714 17,714 0
= 4,025
Al 13,689
01 At 22l 17,714 17,714 0
OAZF SSIIBAIAE THH SR MAH RS A
g eazg X3 17,714,000& 14 17,714
= 4,025
Al 13,689
308 AHAIEHHSOIA 112,380 0 112,380
10 B2 S0t B & XA 112,380 0 112,380
OAZF SSIIEAIAE FX 22l 2AE A
95,824,000& x 13l 95,824
OAZF SSIIE HollSRAIAE |FX22 <
EFALS 9,556,000& x13] 9,556
OMS&EEANAEY /& JSX 2l
7,000,000& =13l 7,000
405 XtaHE SHI 87,000 0 87,000
01 AR ESFH S 87,000 0 87,000
O3SJIEAAE OA3 54
20,000,000& =14 20,000
OZESE HUAAY BUZY
67,000,000& =14 67,000
HEMAZH 7Y 146,000 251,649 A 105,649
405 XtAtE SHI 146,000 251,649 A 105,649
01 XML =S ZH SHI 146,000 251,649 A 105,649
Ok dAFH 2H A 1,090, 000& = 100CH 109,000
OkL®: 2uUH WA 245,000 = 100CH 24,500
OkL=: LES WA 1,250,000& = 10CH 12,500
d2Es2l 418,056 0 418,056
201 Let24d] 309,025 0 309, 025
01 At 22l 8,912 0 8,912
O get=&H| 8,140
— UTP 3HO0I= 132,000& * 202f A 2,640
— UER3 3E 100,000& * 404 4,000
— o EEES Ws B HE
3,000& 5008 1,500
O 2d+¢ 772




2N
X ZH -
L= B
el

_ RE]
M- B (B H) - NSAY - B %@ﬁ 2t
— AEBE0 Y IHoHEES WE 2 Al
= 772
es 280,000€ * 1€ « 23| 560
- 04 Hl 105,6008 = 1H * 23| 212
02 E2=2=2%H| 300,113 0 300, 113
O 2222 2 HA 207,600
— X1 HEANMAMY & AIES
17,300,000 x12& 207,600
O A& & Hl s Al 92,513
— IOl i A BHAIK X 22 42 513
-HEARE 25,5203 = 1,510 38,536
AHE 397,650& * 1004 3,977
—HIHAY YEYD U BUAAY RN
&= 40,000,000& * 14 40,000
— oI EE BOotA|AE QI8
10,000,000& = 14l 10,000
202 o4 | 2,031 0 2,031
01 2LHO! ] 2,031 0 2,031
O HEE5YYRLd Mll& 55 2 1S 3
o] EA 225,600 * 3Y¥ * 33| 2,031
207 A0 | 50,000 0 50,000
02 & A Y| 50,000 0 50,000
OMeldE gsgE) 29 25,000,000 x2= 50,000
401 Al HI L £ 0HHI 10,000 0 10,000
01 Al&H| 10,000 0 10,000
OAMES4A THEIXIH [HE AN ALY 0| &H|
1,000,000 * 1000 A&~ 10,000
405 XHAHFEIEHI 47,000 0 47,000
01 XA 2B F S| 47,000 0 47,000
OFGTE HAHZ TMS(KASE 2IAIAE) 0l =3
47,000,000 « 1CH 47,000
HAEXE ATEN 2422 55,572 20,000 35,572
201 et2 | 55,572 20,000 35,572
01 AP 22| d| 55,572 20,000 35,572
Ogbt4=24| 55,572
— X 2AzZa 0l A (MHE)
3,630,000 *1 & 3,630
— MS-Office ZE2 & 722 348,920= 100K 34,892
— 82 2014 T2 1 170,500 * 1004 17,050
HYBANAY SSEY DHAY 33,120 33,120 0
= 6,198
Al 26,922
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M JUNEE
= S PN |

SA - BB B () - MM - BES Ol &t o San HmEET
201 Le-2d| 33,120 33,120 0
= 6,198
Al 26,922
01 At 22l 33,120 33,120 0
O e8| 33,120
— A2 SSII8HI SF&H WA elAz
33,120,000 » 14! 33,120
= 6.198
Al 26,922
B30t T2 2el A Al XA 38,007 0 38,007
< 12,192
Al 25,815
307 glz2+ol & 38,007 0 38,007
< 12,192
Al 25,815
02 HAFHAANGFEE 38,007 0 38,007
O&S30tsE2 08 2|t el
1,143,000& «2H 128 27,432
= 12,192
Al 15,240
OZz)daek 428
15,240,000 »18.042%*2H 5,500
oZz gk &2z 1,270,000& »2H 2,540
O8&d230tg T2 Od a2 T8l
L4003 242 x23] x 123 2,535
FE0ISANE2E & F23u= 37,300 0 37,300
201 Let24d]| 32,500 0 32,500
01 At 2teltl 20,500 0 20,500
Ogt+=&H| 4,000
—ANESBSNSS N 2|
10,000& =300 3,000
23 Ned 288 7Y
100,000 1074 & 1,000
o2g+¢ 16,500
—ANYUEESNE T A=E
110,000 x 10 =100 & 11,000
— AlAGH HATAMNSE eHZA =& =
110,000 52 =101 = 5,500
02 2324l 12,000 0 12,000
Oz22= & HA 12,000
—ZE2S S (FUNXLH) 8=
200,000& x50 2128 12,000
301 gt 4= 4,800 0 4,800
09 SAAHIEA S 4,800 0 4,800
OANEESNE NESA(NISLAES Al 4,800
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Hu: MUNYHS -SE 2
Sl MUNYIS o1Te) Xy CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
— = A| 7,000 *20L *2 01 A %123 3,360
— W=t 3,000 20«24 A %123 1,440
HE30l2 2243 8,229 0 8,229
201 et d| 4,120 0 4,120
01 AP 2t 2| H| 700 0 700
Ogbt=24| 700
— A0S ENEH WEEUN 2L
10,000& *353 *2 4 A 700
02 Z2=2=24%4| 3,420 0 3,420
O2322 % HA 3,420
— 82304 AHYIINZ, A3IE
50,0002 *x20 A 128 1,200
—dAE3l0IS4dH 822
30,000 x20f A x12& 720
—dE35l0l2 EMHO0IX X224
30,000, 000& *5% 1,500
301 et A= 2,189 0 2,189
09 #HAIAHI BEAZ 2,189 0 2,189
O&dZs0lsT2 ) A2 A 2 NsEA AH|
273,600 x43| x2JH A 2,189
307 2I2+0 & 1,920 0 1,920
02 QI2tAAMAIE E =X 1,920 0 1,920
OFE S0 MAAHCH &HidHl XI&
2,000 x40 122 «2JH A 1,920
SEHXES MA L 242 109,368 105,629 3,739
= 7,386
Al 101,982
AMNSH JIZ=SH S ZAMFE 100,920 97,181 3,739
& 7,386
Al 93,534
101 @121 | 21,713 20,193 1,520
& 837
Al 20,876
04 JIZtHIZ22XNSE S 21,713 20,193 1,520
020168 B HZSEZA(ALH ZAH) 20,876
— Sk = 54 610& x 18272 %0.8 1,180
— AR 22X =
49 8102 x2H %272 x0.8 2,152
— X A2 2| Xt 54,6103 x6H 272 0.8 7,078
— o 9 QE 49,8102 x9H x242%0.8 8,608
=N == 941
- 1OHE 0] &t 10,410,000 *x9.64%*0.8 803
- 1JHg 0]8et 8,608,000 *2.0%*0.8 138
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Ha: MANYIL U-SF 2
©: SAXZ Ha L 2e| (&)
SA - BB B () - MM - BES Ol &t o San HmEET
— & ¥ DEEEE 19,018,000& x4 .82% 917
02016 &Meted S At Z AL 837
— ALK = 54,6103 x 191152 820
< 820
— A2 BES (A, 08)
820,000& *2.0% 17
< 17
201 L2l 76,499 74,252 2,247
< 6,549
Al 69,950
01 At 22l 76,499 74,252 2,247
OgBt=&H| 76,499
—2016E9 ZXMSBEA(AFL M ZAL) 69,950
c DA EEHQRF 49,8103 +51F+72+0.8 14,226
TIEMNY ag
49,8103 x51H+262+0.8 52,839
S22 ZZIE WA 110,000 8 & 880
28 AUHE MH 20& *13,0000H 260
- AAME ME 202 *25,0000H 500
- EM 28M & X 7Y
17,000 30 A 510
=t=i:l 7,000 x3H »353] 735
—2016E Metg S AFSI AL 6,549
- ESEMA =E(10¥) 6,500,000 1A 6,500
< 6,500
- OlHI ZEAFR WSEHI (1) 49,0003 » 14 49
S 49
202 Odl 2,708 2,736 A28
01 = LHA YI 2,708 2,736 A28
OSHZA e & M=+ 220
225,6003 x3H #4353 2,708
SHAHEE & AME=QSH M 8,448 8,448 0
201 LEr2 Y| 8,448 8,448 0
01 At 22l 8,448 8,448 0
Ogt=&H| 8,448
—SESHHE HZ(Web-book, CD)
8,448,000 » 14! 8,448
OHEE FESH Jlgtxd 456,108 481,771 A 25,663
SHAE 2822 28t 445,608 447,396 21,788
201 Let24d] 431,096 431,924 A 828
01 A2 2l | 5,506 5,506 0
Ogst4 gl 4,756
—#AHSSS BCD 7Y 1,2008%15H 128 216
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SN BEEAD
Hu: AUNYHES -2 28
Sl oI EE HBEA JUEY CEEEED
SH-HH . B(SH) - HBAMY - B2 ofl &k o San HDE2
— A2 EYH 2 100, 000& *4CH x4 3] 1,600
— 2 A00IAE AEX 2L
3,500& 200 x12& 840
—ASEIANE S B2
600,000& *13] 600
—UTPHOlE 2 60,000 *255F A 1,500
Oex= 750
~HAR 0S UHAXE (5 23 £TR)
250,000& *3JH 2~ 750
02 533294l 425,590 426,418 N 828
OZ2Z22Z2Y4 A 389,520
—ANUHESIIER= 17,200& x1253| A «12& 25,800
—xZ0NEIIY dE2IHE
2,700,000& *13| & x12& 32,400
— Mo Es 2 (HAE M) 22,000,000& x12& 264,000
— NEES S (LB
4,500,000& x12& *90% 48,600
—URE 0SHESAMESZ 80,0003 7012 6,720
—AHOol= TVEA S (55 &)
1,000,000& ~12& 12,000
OAI& &Hl KX Hl| 32,730
— AMEEHSI| | XU 1,250& *900CH 1,125
— P& SI| |AXlbH] 10,000 x710CH 7,100
— FACCTVAEHI S XIHI (BHIE)
71,731,000 *4% 2,870
— B2 NHI(2H, A, S)
3,700& x1,4203| A 5,254
— 2SS AAE AH S XY
5,000,000& x 14! 5,000
— 3o DI0I3AIAE HHl S X H|
28,000,000 *x 1A x4% 1,120
— |IPEAYSSSHEAIAE &Y KX
146,572,000 14! «7% 10,261
(@PNE=FaR=1a:] 3,340
— A SE A I A=
1,300& *x150¢ ~12& 2,340
—ASEZANE S XY 1,000, 000& 14! 1,000
202 044 4,512 5,472 A 960
01 2L Y| 4,512 5,472 A 960
OHPEALURIR J|25S L AR5 &4
221 04 H] 225,600& *4H x53] 4,512
401 Al HI L 2 0HHI 10,000 10,000 0
01 A& HI 10,000 10,000 0
OAI2 4 THERXIOl & S4lals 0l &bl
1,000,000& *109H £ 10,000




A 3E2SA
Hu: AUNYHES -2 28
& HFEE HESH Jgxd (&)
SA - BB B () - MM - BES Ol &t o San HmEET
SAAE FHl &= 10,500 34,375 N 23,875
405 XHoHF S HI 10,500 7,500 3,000
01 HatH ESFH S 10,500 7,500 3,000
OatA: =MD A" 35,000 «100CH 3,500
Os A IPE3I 22 200,000& »20CH 4,000
Osda det) ¢ 3,000,000 = 1CH 3,000
NEZEAEF=A 87,063 303,641 A 216,578
SHOIXN 2=2¢ 87,063 175,706 A 88,643
101 @14 Hl 3,104 2,841 263
04 JIZHHZ2XNHEE S 3,104 2,841 263
OXNGAIEZEA0E DBRF 21 HHI 3,104
—Jlzs 48,6403 x22 2 2,141
—=52g 48,6401 ¥52 x22 487
— 2+AlH| 2,000 x22 4«23 x2 & 176
— 30AHZ 2,141,000& *4.5% 97
—dLEEE 2,141,000& *3. 1% 67
— 1828z 2,141,000& x1.5% 33
—MHEE = 2,141,000& x4.5% 97
—RIBE= 78,000& *6.55% 6
201 £B-2dH| 83,959 112,865 A 28,906
01 At 22l 4,140 37,140 A 33,000
Oget=gH| 4,140
— SHO0IX Xz HHS LToH S+
270,000& =124 3,240
— AT HAZ DAT HIY P E
45,0003 204 900
02 2324l 79,819 75,725 4,094
O=323<LHA 34,350
— EMHO0IX AHUNMESHZ
1,100,000& =128 13,200
—EWOoIX AFASHNHIA AIEZ
100,000& =128 1,200
— SZA ESHOIX US(2XH) ALEZ2
253 «500H 65 F A 123 9,750
— SZAIEHOIX WS(E4) AHE=Z
553 «100H 65 F A 123 4,290
— SZAIEHOIX UMS(HA) AHEZ
553 «100H 65 £ A 123 4,290
— NGANZEAOE Nzl REUYSEE
2703 *3,00021 23| 1,620
OA&EHl s Xl 45,469
— OIHYAIAE AMB(WEB,0B, AECIXl) =X
2 2=t 175,754 ,950%6% 10,546
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M MANYHS -22 7
Ehel: NEEEFMSFA CEERED)
- _ _ RE]
SA BB (3H) - NRAY - B Ol &F o4 %@ﬁ HRE2
— QI E B XAl AE S E2H|
24,433,650 x11% 2,688
—Z2XZA EHOXN KX 24 & JsiA
1,700,000 x12& 20,400
— OIHY EATSAIAE S 24|
31,350,000 *10% 3,135
—SZA BYsE RS
60,000,000 *10% 6,000
—SZA EHOIK AE2HE QSAAE
2,700,000*13] 2,700
HESAAH (BEBEA W) 64,305 61,720 2,585
J2ZH (24D 64,305 61,720 2,585
Jl2dH(AEE Al 64,305 61,720 2,585
201 et 9| 22,125 19,540 2,585
01 AR 22l ] 22,125 19,540 2,585
Ogbt=2H| 13,725
—J|2AIfE 34| 100,000& *20H 2,000
— 2 A || 500,000 *1CH *x53] 2,500
— Z2AD EUY 150,000 *1CH *63] 900
— T2l L AL EY
237,000 501 x53] 5,925
— ZA2 X 20,000& x108+ A 128 2,400
O=3&H| 8,400
-~ HESH ALEN 3
7,000 x20H x53| x12& 8,400
202 o4l 38,400 38,400 0
01 2L I 38,400 38,400 0
OFBESANIL2F=A 2L |
20,0003 »20H 83| x12& 38,400
203 R F & 3,780 3,780 0
04 EASHEIRFAH| 3,780 3,780 0
OFESal 350,000& x12& *90% 3,780




